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758 69% | JK£:12,200, :12.000, %:13.800. B:14.300
L 758 4%
FR (FE)=RER R (FE) & | 758 [ 73% |
758 72%
758 0 | 72% 2,200, :12.900, £:13,400
758 600 | 72% 2,300, £:12,800, £:13,300
758 600 | 72% 2,300, £:12,800, £:13,300
758 500 | 72% 4,300, %:11,700, B:13,300
758 500 | 72% 2,800, JK:11,700, £:13,300, B:13,800
758 600 | 72% K:11,800, 7K:13.300, %:13,800, B:14,300
AR 758 500 | 72% 4,300, K:11,700, %:12,800
758 300 | 68% 2,800, 4:12,200, %:13,800, B:11,600
75881 | 12800 | 69% 1,800, 7K:12.400, :12,300, £:13,300, £:13800, H:11.600
758 700 | 72% 2,800, JK£:11,500, £:13,300, H:13,800
758 700 | 72% 2,800, JK:11,500, £:13,300, H:13,800
758 500 | 72% 1,700, £:13,300, H:13,800
758 500 | 72% |H:11,700. £:13,300, H:13,800
758 600 | 72% 1,800, 7K:12,100, £:13,900, H:14,300
HR (FE) =2 FR (FE) & 758 700 | 74% |
75881 | 11,600 | 72%
X 69% 11,700, £:13.300
67% | J7K:11,600, A £:11,800, £:12,300
69% 111,700, 7KE:11,500, B:13,800
72% 111,700, £:13,800, H:14.300
ECES 71% +11,600, £:12,800, £:13,800
72% | %:12,800
72% 11,700
72% | B:11,700, B:13,300
72% _|%:11,800, H:13,800
72% 2,800, H:13,300
RR(AE)-ERE | RRCHE)% | 9000 | 79% ]3:10,000
i | 9500 78%
i 9500 78%
i | 9500 78%
i | 9500 78%
i |_9500 78%
9,500 78%
78%
ERE% 79%
78%
78%
78%
78%
78%
78%
79%




TSR FIERER(A1~4BERD)

EEBEAB 2017/09/02
2/1-4
FH ===
) ®% | mam IIRSEE
BB %5
HRCRBR)=XR () | RRCAE) R

KR (A F | _J

0.100. H:9.300

400, £:9.800

7
7
7
7
7
7
7
7
7 .300 63% 00, %:9.800
7 300 3
7 .800 1
7 800 1
7 700
7 700
7 700
FR CRE)=#LIR (i Fi)| RRCHE) % |_JL 7 .600
7 600 | 7
7 900 | 66%
7 400 | 64%
7 500 | 6a%
7 800 | 66%
7 100 | 68%
7 500 | 69%
7 100 | 73% 200 £:12.100.
7 100 | 73% 200, £:12.100, H:12,
7 900 | 68%
7 100 | 68%
7 100 | 68%
7 900 | 66%
7 900 | 66%
7 300 | 70%
[#L1% (37 F %) _JL500 | 7 .800 66%
["Jts02 | 7 000 | 63%
[ JL504 | 7 800 | 66%
[ JL506 | 7 600 | 66%
[_JLs08 | 7 100 | 7
L 7 100 | 7
L 7 900 | 7
L 7 400 | 6
L 7 400 | 6
[ JL 7 900 | 6
[ JL520 | 7 900 | 60%
[ 522 | 7 900 | 60%
[ JL524 | 7 900 | 60%
[ JL526 | 7 900 | 68% _H:14.000
[ 528 | 7 100 | 65% 0
530 | 7 100 | 73%
RRCRE)=k#&5] FR(CPE) % |_JL565 | 7 .000 72%
[ JL567 | 7 .000 | 72%
569 | 7 900 | 70%
ET ] 562 | 7 000 | 7
[ JLs64 | 7 000 | 7
L566 | 7 400 | 7
FRCRE) =8I RERCRE) % L. 7 .800 7
L 7 500 |69
L 7 100 | 72%
FEE] L 7 000 | 72%
L! 7 .500 1%
L 7 200 | 70%
RRCAE)=®E | RR(AE) 5 | _JL 7 400 | 74%
L57: 7 ,400 1%
L57 7 ,400 1%
L579 | 7 400 | 69% 700, H:15,200
HILF L570 | 7 ,000 63% i
L57: 7 .600 73% ,000, H:14,100
L57: 7 .600 73%
L576 | 7 900 | 72%
RER(CRE)=HfE FR(CPE)$|_JL585 | 7 .500 59% R
[ JLs87 | 7 600 | 70% 400, H:13,100
589 | 7 ,800 3
W% | _JL584 | 7 ,500
| JL586 | 7 ,800 ,000, H:15,100
588 | 7 ,500 ,200
RRE(CRE)=K5 FRCPE) S |_JL66l | 7 ,700 +£:12,000
[ JL663 | 7 000 | 70% 200, F:14,300
[ JL665 | 7 600 | 7 1800, F:14,300
[ JL667 | 7 500 | 7 000, H:13,300
| JL669 | 7 600 7 ,200, H:13,800
671 | 7 600 | 7 300, H:13,800
Rp®E | _JL662 | 7 800 | 70% 800, +:13,300,
[ JL664 | 7 800 | 70% 800, F:13,300,
| JL668 | 7 .500 1% ,800
670 | 7 000 | 70% 800
672 | 7 000 | 70% 300, H:14,300
674 | 7 .500 1% 13,300
RR(CRR)=RIK FR CRE) % |_JL605 | 7 ,000 72% | 1:13300
| JL607 | 7 ,800 68%
[ JL609 | 7 700 | 73%
611 7 100 73%
613 | 7 .800 3% |4
615 | 7 .800 3% |4
R [ _JL606 | 7 ,800 73%
| JL608 | 7 .800 73%
L 7 .500 7 ks
Lf 7 ,000 7
Lf 7 ,000 7
L 7 .500 7
RRCHE)=fEA RECRE) % |_JL623 |7 000 | 73% |4
| JL625 | 7 .500 72% |4
| JL627 | 7 ,800 66%
[ JL629 | 7 .600 2%
631 7 .600 2%
| JL633 | 7 .500 72% |4
637 | 7 ,000 1%
639 | 7 ,200 70%
feA% U622 [ 7 500 72%
| JL624 | 7 ,300 68% |1
| JL626 | 7 ,400 70% |4
| JL628 | 7 700 72 ks
Lf 7 700 72 ks
L 7 .500 72
L 7 .500 72
Lf 7 ,200 70%

JAL



EE#EAR ;- 2017/09/02

TSR FIERER(A1~4BERD)

™ 2/1-4
=40} % | mam - — IIESEF
BR B FHES %5
HR(CRE)=215 RERCPE) % .700 74% 700, £:12.800
600 | 72% .
700 | 72% 300, H:12.800
800 | 71% I 00
700 | 72% 800, £:11.500.
700 | 72% 800, £:11.500.
S 800 | 71% 800, £:13.800.
500 | 72% 800
500 | 72% 11.700
500 | 72% 300
600 | 72% .800. H:13.800
500 | 72% 800, H:13.300
R (PE) =R R (FE) R 000 79% .500
10500 | 76% 500
10500 | 76% 500
7 10500 | 76% 300
7 500 78% 300
7 500 78% 300
7 500 78% 300, H:10.000
7 500 78% .300. H:10.000
ERBR 7 .000 79%
7 500 78%
7 500 78%
7 500 78%
7 500 78%
7 500 78%
7 10500 | 76%
7 500 78%
B (R ) =ALIR (37 T ) & i 2 (P ) 3 _J 7 .700 67%
7 300 | 63%
7 800 | _72%
7 300 | 68%
7 300 | 68%
LR (37 F %) 3 7 .400 75%
7 300 | 68%
7 500 | 68%
7 700 | 65%
7 .400 | 68%

JAL



TS %BIEERCAI~19BARES)

EE#EAR ;- 2017/09/02

2/13-19
FH ===
X B2 | mam IIRSEE
BB %5

R CAB)=XR () | RRCHE) % 0.300. H:8.500

2,300, 500,
2200, 00,
1,700, 00,
+:11.300, H:9.300

0800, +:9.800. H:9.300
800
£:9,800

KR (A F | _J

00, H:8.300
0.100. H:9.300
7K:9.400, + H:9.300
7K:9.400, + H:9.300

oo
S|
S|
=|

.m.
S|
S|

7
7
7
7
7
7
7
7
7
7 .800 7k&:9.400, £ H:9.300
7 .800
7 800
7 700
7 700
7 700
FR CRE)=#LIR (i Fi)| RRCHE) % |_JL 7 .600
7 600
7 100
7 400
7 500
7 500
7 .900
7 .200
7 100
7 100
7 1900
7 1900
7 1900
7 900
7 .900
7 300
[#L1% (37 F %) _JL500 | 7 .800
[JLs02 | 7 .000
[ JL504 | 7 800
[ JL506 | 7 600
[ JL508 | 7 100
L 7 100
L 7 .900
L 7 500
L 7 700
L 7 .200
[ U520 | 7 .000
[ U522 |7 .200
[ JL524 | 7 600
[ JL526 | 7 1900
[ U528 | 7 .800
530 | 7 100 | 7
RRCRE)=k#&5] FR(CPE) % |_JL565 | 7 .000 7
[ JLs67 | 7 000 | 7
569 | 7 300 | 7
ZwAsE | _JL562 | 7 700 | 7 X
[ JL564 | 7 700 | 7 3:13.01
L566 | 7 900 | 7 2400, H:14.300
FRCRE) =8I RERCRE) % L. 7 800 71
L 7 600 | 71 00. H:12.100
L 7 500 |74 E . H:12.800
ElEES L 7 000 |72 112,500, +:12.800. H:11.800
L 7 200 | 74 £:12.500, B:12.100
L 7 200 | 70% |£:14,200. £:13,500
W (PW)=%h ESRCEIES L 7! .400 74% 113,900, +:14,900,
L575 | 7 400 | 71% 400
L577 | 7 400 | 71% 400
L579 | 7 400 | 69% 300 £:11.700, H:15,200
HILF L570 | 7 ,300 69% 1:16,000. H:12,400
L572 | 7 600 | 73% ,400, £:13.000, H:14,100
L574 | 7 600 | 73%
L576 | 7 900 | 72% [k N
RR (M) =KE HRCPA)H [_JL585 | 7 700 64% |&+:14,500, H:11,800
| JL587 | 7 800 69% | JK:11,300, %:12,000, £:12,400, H:13.100
589 | 7 800 7K:13,500, £:15,200, H:14,700
R | _JL584 | 7 500 7
[ JL586 | 7 ,800 7}
588 | 7 500 7
RRE(CRE)=K5 FRCPE) S |_JL66l | 7 ,700 1
[ JL663 | 7 000 | 70% |
[ JL665 | 7 600 | 7
[ JL667 | 7 500 | 7
[ JL669 | 7 600 | 7 B £:11,800, 00
671 | 7 600 | 7 A:11,800, £:12.800, 800
K5 | _JLe62 | 7 600 | 7 K ,300
[ JL664 | 7 600 | 7 pY ,300
[ JL668 | 7 500 | 7 pY
670 | 7 000 | 70% [KE:T2,
672 | 7 ,000 70% 7K:12,200, #:13,300, H:14.300
674 | 7 500 | 7 £H:13,300
R CRR) =Ki& FR CRE) % |_JL605 | 7 ,000 7 K:12,200, 1:13,300
[ JL607 | 7 200 | 7 X ;
[ JL609 | 7 700 | 7. K-
611 | 7 700 | 73% |4
613 | 7 800 | 73% |k
615 | 7 800 | 73% |k
R [ _JL606 | 7 600 73% |X
[ JL608 | 7 600 | 73%
L 7 800 | 68%
L 7 300 | 67% [A
L 7 300 | 67% [A
L 7 500 | 74% |3
RR(BE)-feA | RmCHE)3 | JL623 [7 000 | 73% |4
[ JL625 | 7 500 | 72% |3
[ U627 | 7 200 | 70% |A:
[ U629 | 7 600 | 72% B
631 | 7 600 | 72% |[AX:
[ JL633 | 7 500 | 72% |k ,300
637 | 7 800 | 66% [A 000, %:13,300
639 | 7 000 | 71% [k 00
feA% U622 [ 7 500 72%
[ JL624 | 7 300 | 68% |A:
[ JL626 | 7 300 | 68% |A:
[ JL628 | 7 800 | 66% |A:
L 7 800 | 66% |A:
L 7 500 | 72% B
L 7 500 | 72% R
L 7 200 | 70%




TS %BIEERCAI~19BARES)

EEBEAB 2017/09/02
2/13-19
FH ===
=40} % | mam - — IIRSEE
BB ERE FHES %5
RR(PE) =25 ECAC RS .700 74% #:11.700, +:12.800
.600 72% | K+:13.300
.800 69% |:X:13.800, 7K:11.500, A£:11.700, £:13.300
.400 X
.800 K
.700 P
S .800
.500
.500
.500
.600
.500
RECRE)=ER RERCPE) % .000
10.500
10.500
7 10.500
7 .500
7 .500 78% | AR£:14.300
7 .500 78% | H:10.000
7 .500 78% | H:10.000
BEREH 7 .000 79%
7 .500 78%
7 .500 78%
7 .500 78%
7 .500 78%
7 .500 78%
7 10.500 76%
7 500 78%
B (R ) =ALIR (37 T ) & i 2 (P ) 3 _J 7 .700 67%
7 .400 68%
7 800 2%
7 .600 75%
7 600 7%
LR (37 F %) 3 7 .400 75%
7 .400 75%
7 800 72% £ .
7 .000 67% |AK:14.400, £1:14.700, H:16.600
7 3.100 69% |AK:14.100, £:14.700, + H:13.400

JAL



TS5 RB I EER(2A20~28AEES)

EEBEAB 2017/09/02
2/20-28
FH =57E
=R B4 | mam TS ER
BB ERE %5
HRCRBR)=XR () | RRCAE) R 9.800 0.300, H:8.500
9.800 0.300. H:9.300
700 2300, 500,
.800 2.200. 00,
.800 1,700, 00,
.300 £:11.300. H:9.300
300 0.800. 1:9.800. H:9.300
.300 800
300 £:9.800
700
1400
1400
1400
1400
1400 12,
KR () % |_J 7 7.400 00. H:7.800
7 400 | 55% |A:12.700, +:9.800, H:7.800
7 400 | 55% |A:12.700, +:9.800, H:7.800
7 400 | 55% |A:12.700, £:9.800, H:7.800
7 800 | 57% 800. H:7.800
7 100 | 60% 00, H:8.300
7 .800 % 0.100. H:9.300
7 .800 % _|7KA:9.400. £ H:9.300
7 .800 JK:9.400, T H:9.300
7 .800 7K:9.400, £ H:9.300
7 .800
7 800
7 700
7 .700
7 .700
FR CRE)=#LIR (i Fi)| RRCHE) % |_JL 7 .600
7 600 | 7
7 100 | 68%
7 400 | 64%
7 500 | 64%
7 500 | 67%
7 900 | 68%
7 200 | 70%
7 100 | 73%
7 100 | 73%
7 1900 | 68%
7 1900 | 68%
7 1900 | 68%
7 900 | 66%
7 900 | 66%
7 L300 | 70%
[#L1% (37 F %) _JL500 | 7 .800 66%
[ JL502 | 7 000 | 63%
| JL504 | 7 800 | 66%
| JL506 | 7 600 | 66%
| JL508 | 7 100 |73
L 7 100 |73
L 7 1900 | 71
L 7 500 | 67
L 7 700 |66
[ L 7 200 | 65%
| JL520 | 7 000 | 65%
| U522 |7 200 | 65%
| Ji524 | 7 600 | 66%
| JL526 | 7 1900 | 68%
| JL528 | 7 800 | 71%
530 | 7 100 | 73%
FRCRE) =/ (%) | RR(HE)F [ JLo01 [ 7 .500 66%
[ JL903 | 7 700 | 61%
| JL905 | 7 7700 | 61%
[ JL907 | 7 7700 | 61%
[ JL909 | 7 200 | 65% 400, H:15.500
L913 | 7 200 | 65% 400, B:15.500
L9156 | 7 200 | 67%
917 | 7 1200 | 69%
L919 | 7 9.100 80%
[ JLo21 | 7 8.600 81%
[ U923 |7 200 | 69%
925 | 7 1200 | 69% 2,600, £ H:15,600
SR8 (IR%R) 3¢ |_JL900 | 7. 700 | 70% 500, H:12,600
[ JLo02 | 7 ,700 | 70% |+:14,500, H:13.100
[ JLo0a | 7 8,600 81%
| JL906 | 7 9,600 79%
[ JL908 | 7 1200 | 69% |4
L 7 700 | 66% |7 8,400
L 7 700 | 66% |4 ,400
L 7 700 | 66% |4 8,400
L 7 700 | 61% |4 15,700, H:19.200
L 7 7700 | 61% |4 5700, H:19.200
[ JL920 | 7 6200 | 65% :15,100, B:18.400
1922 | 7 8,600 F]
R CRE)=%&3 BRCRA)$ [_JL565 | 7 ,000 1 215,300, H:14,200
| JL567 | 7 ,000 | 7 :15,300, B:14,200
L569 | 7 300 | 7 13,000
Zi@mA% | _JL562 | 7 700 | 7 13,400
| JL564 | 7 700 | 7 £ H:13,000
L566 | 7 900 | 7 £:12,400, H:14,300
R (DE)HI%E | RmCHE) 3 | _JL 7 800 | 71
L 7 600 | 71 : 00
L 7 500 |74 £:12,100, H:12.800
HIEER L 7 000 |72 2,500, +:12,800. H:11,800
L 7 200 |74 £:12.500, B:12,100
L 7 ,200 | 70% :14,200, 13500,
R (PW) %5 ESRCEES L 7! .400 74% ,900, £:14.900,
L5675 | 7 400 | 71% ,400
1577 | 7 400 | 71% ,400
L579 | 7 ,400 | 69% 300, £:11.700, H:15,200
HILF L570 | 7 ,300 69% 1:16,000. H:12,400
1572 | 7 600 | 73% 3,400, :13.000, H:14.100
1574 | 7 600 | 73%
L576 | 7 900 | 72% [k
R (DE)-@iE | RmCHE)3 | J685 [ 7 700 | 64% |&F
[ JLs87 | 7 .800 | 69% |4 2,000, £:12,400. H:13.100
589 | 7 ,800 7K:13,500, #:15.200, 700
EWEERE | _JL584 | 7 500 7K:14.100
| JL586 | 7 ,800 7K:13,300, £:12,000. H:15.100
588 | 7 500 | ¢ 7K:13.100, H:15.200
RR(AE)=K7 | BmCHE) 3 |_JL661 [ 7 700 3% [F:11,700
| JL663 | 7 000 | 70% |#:12,200, £:14.300
| JL665 | 7 600 | 7 :11,800, :14,300
| JL667 | 7 500 | 7 111,700, H:13,300
| JL669 | 7 600 | 7 A
671 | 7 .600 7 A:11,800, :12,800,
K [ JLe62 | 7 .600 7 A:11,800, %:12,800,
[ JLe64 [ 7 .600 7 7K:11,800, £:12.800,
| JL668 | 7 500 | 7 ,800
670 | 7 ,000 | 70% ,800
672 | 7 200 | 69% [:X:12,100, A&+:12,000, £:13300, H:14.300
674 | 7 500 | 71% [#£H:13.300
R (BE)=RE | BmCHE)3E | _JL605 [ 7 000 | 72%
| JL607 | 7 200 | 72%
| JL609 | 7 700 | 73% +13,300, H:12.800
611 | 7 700 | 73%
613 | 7 600 | 73%
615 | 7 600 | 73%
R [ _JL606 | 7 ,800 73%
| JL608 | 7 800 | 73%
L 7 700 | 73%
L 7 .300 | 69%
L 7 .300 | 69% K1
L 7 500 | 74% 3.300

JAL



TS5 RB I EER(2A20~28AEES)

EEBEAA - 2017/09/02
2/20-28
FH =57E
=4] #2 | BAD SIS ER
® | mmm | BEP
~ | BB
R (CRE) =R RERCPE) % .000 73%
500 | 72%
200 | 70%
600 | 72%
600 | 72%
500 | 72% [&4
000
000
AR -500
300
300
700
700
500
500
7 200
FR(CRE)=215 FRCRE)F | JL 7 .700
7 .600
7 800
7 400
7 800
7 500
B 7 .800
7 500
7 500
7 500 -700. H:13.300
7 .600 .800. H:13.800
7 500 800, H:13.300
RRCAB)-ERSE | ®m(AE) % 7 .000 500
7 10.500 500
7 10.500 500
7 10.500
7 500
7 500
7 500 78% | H:10.000
7 500 78% | H:10.000
ERBR JL 7 .000 79%
JL 7 500 78%
JL 7 500 78%
JL 7 500 78%
7 500 78%
7 500 78%
7 10500 | 76%
7 500 78%
B (PR E) =ALIR (37 T35 2 o 2 (P D) 59 7 .700 67%
7 400 | 68% 600
7 800 | 72% :14.600.
7 .600 | 75%
7 9.600 77%
LR (T ) 7 7 400 | 75% N 9
7 400 | 75% 100, & H:13.300
7 800 | 72% 00
7 000 | 67% 4003 00, H:16.600
7 3100 | 69% |A:14.100. £:14.700. £ H:13.400

JAL



TS RFIEER (A~ 12BEES)

EE#EAR ;- 2017/09/02
FH
=40] Ba | A
R
R CAB)=XR () | RRCHE) %

KR (A F | _J

CELL

RECRE)=ALIE (3 Fi%)

RRCRE) | JL

FLIR (3 F %) $__JL500

KR (B8EE) =AL#R (37 F %)

Kk (BAEE) & | J

L2501

L2503

L2505

FLIR (3 F %) $_JL2502

L2504

L2506

KR (7+53) =18/

KR (B F | J

L2051

L2053

L2057

L2061

EELEES

["JL2050

L2056

L2058

2060

RRECRR)=&ia5l

RRERCPE)H | JU

ES-EIES

R CRE) =R

RRERCPE)H | JU

JENTES

R CRIE) =8IE&

RRECRE)#

S

RECRR)=HIE

RRECRE)#

R CRIR) =B

RRERCPE) & | JU

S

R CRIE) =/

RRPE)R | J

IMAFE

RECAR)=K%9

RRECRE)#

RRHE
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EEEAR

2017/09/02

TS RFIEER (A~ 12BEES)

=40]

FH
BAH
R

2/.

oo

ERE

R CRE)=Ki&

RRCRE)F [ J

.000

.200

.700

.700

.800

.800

R

.600

.600

700

.300

.300

.500

R CRE)=#EX

RRCRE) | JL

.000

.500

.200

.300

.300

.500

.800

.000

AR

.500

.800

.800

.800

.800

.700

.700

.200

R CRE) =58

TR IE % L

.700

.600

.800

.400

.800

.700

.600

.500

.500

.700

.600

.500

RR(PE)-ERS

R CRE) %

.000

.500

.500

.500

.500

.500

.500

.500

ERBR

.000

.500

.500

.500

.500

.500

.500

500

65 (R ED) =ALIR (B T | 2 () 34

.700

.400

.800

.600

FLIR B %) 5

.400

.400

.800

000

3.100

IR GRTFR)=HHR

FLIR (3 F %) 5

7.000

7.000

7.000

BEHRE

7.000

7.000

7.000

AR GRFR)=lE

7.500

7,500

7,500

7,500

7,500

FLIR (B %) 5

7,500

7,500

7,500

7,500
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LSRG IERER(SA1~8BERD)

EE#EAR ;- 2017/09/02

o 3/1-8
=R B4 | mam INESRT
® | mmEm |20
i EES
HRCRBR)=XR () | RRCAE) R 9.800 64%
9.800 64%
700 | 58%
800 | 61%
800 | 61%
300 | 63%
300 | 63%
300 66%
300 66%
700 | 61%
400 | 50%
400 | 50%
400 | 50%
400 | 50%
400 | 59%
KB (P % | J 7 7.400 73%
7 400 | 50%
7 400 | 59%
7 400 | 59% [H:2.
7 800 1% |+£:9.800. H:7.800
7 100 £:10.800, £:9.800. H:8.300
7 800 £:10.100. H:9.300
7 .800 7K :9.400, £ H:9.300
7 .800 JK:9.400, T H:9.300
7 .800 7k&:9.400, £ H:9.300
7 .800 800, H:11.500
7 800 800, H:11.500
7 700 | 58%
7 700 | 58%
7 700 | 58%
FR CRE)=#LIR (i Fi)| RRCHE) % |_JL 7 100 72%
7 100 | 72%
7 400 | 69%
7 400 | 69%
7 800 | 68%
7 800 | 68%
7 400 | 69%
7 800 | 70% |A:
7 500 | 74% |£:13.300. £:12.600.
7 500 | 74% |£:13.300. £:12.600.
7 400 | 69% [JK:11.100, £:14.000.
7 400 | 69% | A:12.700, £:15.200
7 400 | 69% | A:12.700. %:15.200
7 500 | 66% | kK:13.400. %:17.900, £:1
7 500 | 66% |4 00
7 900 | 70% |&:
HLI% (3 T2 3_JL500 | 7 400 | _66% |4
[JLs02 | 7 700 | 63%
[ JL504 | 7 100 | 65% &
[ JL506 | 7 200 |67 114.200, H:12.700
[ JL508 | 7 500 |74 113800, +:12.800. H:13.100
L 7 500 | 74 00
L 7 400 | 71
L 7 100 | 67
L 7 200 |67
L 7 600 | 66%
[ U520 | 7 600 | 66%
[ U522 |7 800 | 65%
[ JL524 | 7 100 | 67%
[ JL526 | 7 400 | 69%
[ U528 | 7 300 | 72
530 | 7 500 |74
FRCRE) =/ (%) | RR(HE)F [ JLo01 [ 7 .800 7
[ JL903 | 7 100
[ JL905 | 7 100
[ JL907 | 7 100
[ JL909 | 7 500
L913 |7 500
L915 | 7 800
L917 | 7 800
L919 |7 100
[ U921 | 7 9.600
[ JL923 [ 7 .900
925 | 7 ,900 500, £ H:16.400
S8 (ARER) 3¢ |_JL900 | 7 400 800, H:13,400
[ JL902 | 7 400 800, H:13,900
[ JL904 |7 9,600
[ JL906 | 7 100
[ JL908 | 7 900
L 7 200
L 7 200
L 7 200
L 7 100
L 7 100 200
[ JL920 [ 7 500 300, £:15.500. H:18,800
922 | 7 9,600 400
E G s 7 RRCPE) R [ _JLs65 | 7 ,000 400, £:15,300, 000
[ JLs67 | 7 ,000 700, £:15,300, H:14,200
569 | 7 300 600, +:13,000,
T@mA%E | _JL562 | 7 700 800, +:13,400,
[ JLS64 | 7 700 800, +:13,400,
566 | 7 ,900 200, +:12,800,
RRCAE) =) | R (HE) % | _JLs51 | 7 000 700, +:13.200
[ JL553 | 7 1800 .200, £:15.100, H:12,400
| JL555 | 7 ,300 k:11,100, £:14,600, B:12,300
557 | 7 1300
JENFE | _JL552 | 7 .700
[ JL554 | 7 100
[ JL556 | 7 1800
L558 | 7 1300
R (PE)-HI%E | RmCHE) 3 |_JL 7 800
L 7 600
L 7 500
FIEES L 7 000 | 74%
L 7 200 | 76% ,200, N
L 7 200 | 71% |%:14,700. £:12.800.
ESACEE TN o (CHE) 5 |_JL 7 500 | 75% |%:15,800. £:15,000.
L575 | 7 400 | 73% 13400
L577 | 7 400 | 73% 13400
L579 | 7 400 | 70% ,000. £:11.700, B:
HILF L570 | 7 ,400 70% ,800, £:16,000,
L572 | 7 600 | 74% |%:14.400, £:12.700.
L574 | 7 600 | 74% |%:14.900,
L576 | 7 200 | 73% ,000. +:11.900
RR(AE)=K7 | BmCHE) 3 | JL661 [ 7 700 | 75% 700
[ JL663 | 7 000 | 72% |#:12,200, £:14.300
[ JL665 | 7 600 | 73% |%:11,800. £:14.300
[ JLe67 | 7 500 | 73% |A:11,700. H:13.300
[ JL669 | 7 600 | 73% [A%:11.800. H:13.800
671 | 7 .600 73% [F:11.800, £:12.800.
K [ JLe62 | 7 .600 73% |A:11,800, %:12,800,
[ JL664 | 7 .600 73% [A:11,800, $:12,800,
[ JL668 | 7 500 | 73% ,800
670 | 7 000 | 72% 800
672 | 7 200 [ 71% [:X:12,100, & +:12,000, £:13300, H:14.300
674 | 7 500 | 73% [#£H:13.300
R (BE)=RE | BmCHE)3E | _JL605 [ 7 000 | 74% (4
[ JL607 | 7 200 | 74% |4
[ JL609 | 7 00 | 75% |
611 | 7 700 | 75%
613 | 7 600 | 75%
615 | 7 600 | 75%
KI5 | _JL606 | 7 ,800 74%
[ JL608 | 7 800 | 74%
L 7 700 | 75%
L 7 300 | 71%
L 7 300 | 71%
L 7 000 | 74% |%:12.200. B:




LSRG IERER(SA1~8BERD)

EEBEAA - 2017/09/02
3/1-8
FH =77
X B2 | mam INFSER
® | mmEm |20
e EES
R (CRE) =R RERCPE) % .000 75%
500 | _74%
200 | 72%
600 | 73%
600 | 73%
500 | 74% |&4
100 | 72%
000 | 72%
AR 500 | 7a%
300 | 690%
300 | 69%
700 | _73%
700 | 73%
500 | _74%
500 | 74%
7 200 | 72%
R CHE) =2 R CHE) 5 [_JL 7 700 | 75%
7 600 | 73%
7 800 | 71%
7 400 | 690%
7 800 | 71
7 500 4
B 7 .300 7
7 500
7 500
7 500 +11.700. H:13.300
7 .600 %:11.800. H:13.800
7 500 %:12.800. H:13.300
RRCAB)-ERSE | ®m(AE) % 7 .000 80% [£:10.500
7 10500 | 77% 500
7 10.500 7% 500
7 10500 | 77% 500
7 500 | 79%
7 500 | 79%
7 500 | 79% |H:10,000
7 500 9% | H:10.000
ERBR JL 7 .000 80%
JL 7 10500 | 77%
JL 7 500 | 79%
JL 7 500 | 79% .000
7 10.500 7% 500
7 10.500 7% 500
7 10500 | 77% 300
7 500 | 79% 500
B (PR E) =ALIR (37 T35 2 o 2 (P D) 59 7 .700 69% .300, 1:17.800
7 400 | 70% £:15.300. H:13.600
7 800 | 73% 3700, H:13.600
7 200 | 75% :12.900
7 .800 | 76% :12.900
LR (T ) 7 7 400 | T7%
7 200 | 75%
7 900 | 71%
7 000 | 68%
7 3100 | 70%

JAL



LS %FIEER(BAI~I5AEBESD)

EE#EAR ;- 2017/09/02

:9.400 £ H:9.300
K:9.400.  H:0.300
800, H:11.500

8.800, H:11.500

) 3/9-15 _
X B2 | mam ———m IIRSEE
BB B B31%
HRCRBR)=XR () | RRCAE) R 9.800 64%
9.800 64%
700 58%
800 61%
800 61%
300 63%
.300 63%
300 66%
300 66%
700 61%
400 59%
400 59%
400 59%
400 59%
.400 59%
KB (P % | J 7.400 73%
400 59%
.400 59%
.400 59% 12,
.800 1 £:9.800. H:7.800
.100 <:10.800, 1:9.800, H:8.300
.800 1£:10.100. H:9.300
.800 7k &:9.400. + H:9.300
7
7

RECRE)=ALIR (3 Fi%)| RR(HE) & [ JL

500 | 74% [ %:13.300, +:12.600.
500 | 74% [ £:13.300, +:12.600.

400 69% |71 100, £:14.000.
400 69% | AK:12.700, £:15.200
.400 69% | AK:12.700, £:15.200
.500 66% | ksK:13.400, £:17.900, £:1
500 66% | Kb 00.
900 70% |
#LI% (37 F#%) $§_JL500 400 66% |4
| _JL502 700 63%
| _JL504 .100 65% :
506 .200 67 :14.200, H:12.700

500 |74 13,800, :12.800, E-13.100
00

L 400 | 71
L 100 | 67
L 200 |67
oL 600 | 66%
[ JL52 600 | 66%
[JLs22 800 | 65%
[ JLs524 100 | 67%
[ JL526 400 | 69%
[ JLs28 300 | 72
530 500 |74
FRCRE) =4 (H) | Rm CHE)F |_JL01 .800 7
[ JLo03 100
[ JLo05 100
[JLe07 100
L909 500

| JL923 .900
925 ,900 100, £ H:16.400
SR8 (IR%R) 5 |_JL900 ,400 ,800, H:13.400
| X ,800, H:13.900
| JL904 9,600
| JL906 100
| _JL908 ,900
L 200
L 200
L 200
L 100
L 100 ,200
[ JL92 500 ,300, +:15,500, H:18,800
922 9,600 ,400
E G s 7 B (CPE) % [_JL565 ,000 400, £:15,300, 000
| JL567 ,000 ,700, £:15,300, H:14,200
569 ,300 ,600, 1:13,000,
Ti@mA% | _JL662 ,700 ,800, 113,400,
| JL564 700 ,800, 1:13.400,
566 ,900 ,200, +:12,800,
RRCAE) =) | R (HE) % |_JL551 000 700, +:13.200
| JL553 .800 .200, £:15,100, H:12,400
| JL555 ,300 k:11,100, £:14,600, B:12,300
557 .300
JENFE | JL562 .700

R CRIE) =8IE& RRERCPE)H | JU

,000 74%
200 76% ,200, N
,200 T1% |$:14,700 12,800

S L

BRHE-BL | RRCHEE | JL 500 | 75% |%:15,800, 15,000, L1

o
S|
<

Sl s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s
IS
S|
S|

L57 400 | 73% 13400
L57 400 | 73% 13400
L57: 400 | 70% ,000, £:11.700. H:
HILF L57 ,400 70% ,800, £:16,000,
L57; 600 | 74% |%:14.400, £:12.700.
L57 600 | 74% |%:14.900,
L57, 200 | 73% ,000, £:11,900
R (AE) =K FR (FH) % |_JL661 700 | 75% 700
[ JL663 000 | 72% |#:12,200, £:14.300
[ JL665 600 | 73% |%:11,800. £:14.300
[ JL667 500 | 73% |A:11,700. H:13.300
[ JL669 600 | 73% [A%:11.800. H:13.800
671 .600 73% [F:11.800, £:12.800.
K | JL662 .600 73% |A:11,800, %:12,800,
| _JL664 .600 73% [A:11.800, £:12.800.
[ JL668 500 | 73% 800
670 000 | 72% 800
672 200 [ 71% [:X:12,100, & +:12,000, £:13300, H:14.300
674 500 | 73% |£H:13.300
R (DE)-RB FR (A % |_JL605 000 | 74% (4
[ JL607 200 | 74% |4
[ JL609 00 | 75% |
611 700 | 75%
613 600 | 75%
615 600 | 75% |B
R [ _JL606 ,800 74% | B
[ JL608 800 | 74% B
L 700 | 75% [A:
L 300 | 69% |A:
L 300 | 69% |A:
L 000 | 74% %




LS %FIEER(BAI~I5AEBESD)

EEBEAA - 2017/09/02
3/9-15
FH =x7E
X B2 | mam IIESEF
® | mmEm |20
e EES
R (CRE) =R RERCPE) % .000 75%
500 | _74%
200 | 72%
600 | 73%
600 | 73%
500 | 74% |&4
100 | 72%
000 | 72%
AR 500 | 7a%
300 | 690%
300 | 69%
700 | _73%
700 | 73%
500 | _74%
500 | 74%
7 200 | 72%
R CHE) =2 R CHE) 5 [_JL 7 700 | 75%
7 600 | 73%
7 800 | 71%
7 400 | 690%
7 800 | 71
7 500
B 7 .800
7 500
7 500
7 500 -700. H:13.300
7 .600 .800. H:13.800
7 500 800, H:13.300
RRCAB)-ERSE | ®m(AE) % 7 .000 500
7 10.500 500
7 10.500 500
7 10500 | 7 500
7 500 | 7
7 500 | 7
7 500 | 79% |H:10,000
7 500 9% | H:10.000
ERBR 7 .000 80%
7 10500 | 77%
7 500 | 79%
7 500 | 79% .000
7 10.500 7% 500
7 10.500 7% 500
7 10500 | 77% 300
7 500 | 79% 500
B (PR E) =ALIR (37 T35 2 o 2 (P D) 59 7 .700 69% .300, 1:17.800
7 400 | 70% £:15.300. H:13.600
7 800 | 73% 3700, H:13.600
7 200 | 75% :12.900
7 .800 | 76% :12.900
LR (T ) 7 7 400 | T7%
7 200 | 75%
7 900 | 71%
7 000 | 68% |k
7 3100 | 70% |A&

JAL



TS5 RBEER(BAI16~22BEES)

EE#EAR ;- 2017/09/02

o 3/16-20,3/22
B B | mam P IIESEF
BB ERE B3R %5
HRCRBR)=XR () | RRCAE) R 9.800 64% 800, 500
9.800 64% 800, H:9.300
700 | 58% 400, 500
800 | 61% 200, £:12.200.
800 | 61% 600, £:11.700.
300 | 63% 800, A:12.400.
300 | 63% 800, A:11.800.
300 66%
300 66%
10700 | 61%
800 64%
200 | 50%
200 | 50%
200 | 50%
200 | 59%
KB (P % | J 7 8.200 70%
7 400 | 50%
7 400 | 55%
7 400 | 55%
7 .800 1
7 800 .
7 800 10.800, H:9.300
7 .800 300, H:9.300
7 .800 300, H:9.300
7 .800 300, H:9.300
7 .800 800, £:9.700, H:11.500
7 800 800, £:9.700, H:11.500
7 700 600, £:9.800. H
7 700
7 700
FR CRE)=#LIR (i Fi)| RRCHE) % |_JL 7 .900
7 1900
7 700
7 900
7 300
7 300
7 400
7 800
7 1200
7 .200
7 .200
7 400
7 400
7 300
7 300
7 600
[#L1% (37 F %) _JL500 | 7 .400
[JLs02 | 7 600
[ JL504 | 7 .900
[ JL506 | 7 100
[ JL508 | 7 1200
L 7 1200
L 7 1400
L 7 600
L 7 600
L 7 800
[ U520 | 7 800 500, .200, B:15.700
[ U522 |7 800 500, %:13.200. B:15.700
[ JL524 | 7 100
[ JL526 | 7 .200
[ U528 | 7 300
530 | 7 .200
FRCRE) =/ (%) | RR(HE)F [ JLo01 [ 7 100
[ JL903 | 7 600
[ JL905 | 7 600
[ JL907 | 7 600
[ JL909 | 7 500
L913 |7 500
L915 | 7 800
L917 | 7 800
L919 |7 100
[ U921 | 7 9.600
[ JL923 [ 7 .900
925 | 7 ,900 100, £ H:16.400
S8 (ARER) 3¢ |_JL900 | 7 400 800, H:13,400
[ JL902 | 7 400 800, H:13,900
[ JL904 |7 9,600
[ JL906 | 7 0,100
[ JL908 | 7 4,900
L 7 7,400
L 7 7400 | 64% [H
L 7 7400 | 64% [H
L 7 9600 | 59% [H
L 7 9600 | 59% [H
[ JL920 [ 7 6500 | 66%
922 | 7 9,600 80%
BRCRE)=k&5] FRCRE) % |_JL565 | 7 000 73%
[ JLs67 | 7 000 | 73%
569 | 7 300 | 75%
T@mA%E | _JL562 | 7 700 | 74%
[ JLS64 | 7 700 | 74%
566 | 7 900 | 75%
R CRE) =R FR(CRE)$ | _JL551 | 7 000 74%
[ JL553 | 7 800 | 75%
[ LS55 | 7 100 | 76% |4
557 | 7 100 | 76% |4
JENFE | _JL552 | 7 700 | 75% |%
[ JL554 | 7 100 | 76% |2
[ JL556 | 7 600 | 73%
L558 | 7 500 | 7 A
R (PE)-HI%E | RmCHE) 3 |_JL 7 800 | 72% [ &
L 7 600 | 7 1000, £:14,900. H:12,100
L 7 200 | 7 B :12,700, H:12.800
FIEES L 7 500 | 7 B :13,500, H:11.800
L 7 800 | 7 B
L 7 500 | 7 2
R (BE)=%E | RmCHE) 3 [_JL 7 200 | 75% [ X4
L575 | 7 400 | 73%
L577 | 7 400 | 73%
L579 | 7 400 | 70% ,000, £:11.700. H:
HILF L570 | 7 ,400 70% ,800, £:15,600,
L572 | 7 600 | 74% 900, £:12.800, H:13,800
L574 | 7 600 | 74% ,900. +:12,800,
L576 | 7 400 73% :12.200, £:15.700,
RR(AE)=K7 | BmCHE) 3 | JL661 [ 7 500 | 73% 500
[ JL663 | 7 000 | 69% 200, +:15.300
[ JL665 | 7 600 | 70% |£:12,800. £:15.300
[ JLe67 | 7 500 | 71% |H:12,700. H:14.300
[ JL669 | 7 600 | 70% |H4
671 | 7 600 | 70% [A
KA%E | _JLe62 | 7 600 | 70% |k
[ JLe64 [ 7 ,600 70% ,800, 13,800,
[ JL668 | 7 500 | 71% ,800
670 | 7 000 | 69% 800
672 | 7 000 69% ,200, X:13,100, %:14.300, H:15,300
674 | 7 500 | 7 £ H:14.300
R (BE)=RE | BmCHE)3E | _JL605 [ 7 000 | 72% [£:14300
[ JL607 | 7 200 | 7 7
[ JL609 | 7 700 | 7 K
611 | 7 700 | 7 J
613 | 7 800 | 7 )
615 | 7 800 | 7
KI5 | _JL606 | 7 800 7.
[ JL608 | 7 800 | 7 A
L 7 700 | 7 A:13, K1 N E
L 7 300 | 69% |A:13.000, % H:15.300. £:13.200
L 7 300 | 69% |A:13.000, % H:15,300, £:13.200
L 7 000 | 72% |#:13.200, H:14.300




EEEAR

2017/09/02

LSRG IEER (BA16~22B1EFE)

=40]

FH
BAH

3/16-20,3/22

IIRSEE

ERE

R CRE)=MEX

RECPE) R

.000

.500

.200

.600

.600

.500

.500

.000

AR

.500

.300

.300

.700

.700

.500

.500

.200

R CRE) =58

RRECPE) R | JU

.500

.600

.800

.400

.800

.700

.600

.500

.500

.500

.700, H:14.300

.600

.800. H:14.800

.500

.800, H:14.300

RR(PE)-ERS

RECPE) R

.000

.800

.000

800

.000

300_F15.300

.000

£:13.500

.500

.500

73%

.600

73%

.600

73%

ERBR

.100

74%

:12.700. H:14.800

300, £:13.9

.000

72%

400, F:14.300

.500

73%

Py
H |

.500

73%

.100

72%

.100

72%

|

.000

72%

.500

73%

(5 25 2 (P E0) =AL IR (37 | & 2 (P ) 34

700

69%

.400

70%

.000

1%

.800

73%

.800

76%

FLIR B %) 5

.600

76%

SHSHSHSHSHSHEb [

.500

70%

.900

1%

.000

68%

] Y Y Y Y )Y Y Y Y Y Y Y Y Y Y Y Y Y )Y )Y Y Y Y ) ] Y ) Y ) ) ) Y ) ) Y )

.100

70%

A

JAL



EEBEAA - 2017/09/02

FH o

=40] Ea | BAH =
BB B
HR(PA)F [ JL .500
JL 300
JL 200
ElEE JL 500
JL 800
JL 500
HR(PA)F [ JL .100
JL 400
JL 400
JL 400
WILR JL 400
JL 600
JL 600
JL 400
R CHE) % [_JL661 500
[ JL663 | 7 000
[ JL665 | 7 600
[ JL667 | 7 500
[ JL669 | 7 600
JL671 | 7 600
RnFE | _JL662 | 7 600
[ JLe64 | 7 600
[ JLe68 | 7 500
JL670 | 7 000
JL672 | 7 200
JL674 | 7 500
FR(CRE) =R R (FE)H [ _JL605 | 7 .000
[_JL607 | 7 200
[ JL609 | 7 500
JL611 | 7 500
JL613 | 7 600
JL615 | 7 600
REZ | _JL606 | 7 600
JL608 | 7 600
JL 7 500
JL 7 .200
JL 7 .200
JL 7 000
FR(CRE) =R HR(PFE)H [ JL623 | 7 000
[ Jl625 | 7 500
[ Jle27 | 7 .200
[ Jl629 | 7 600
JL631 | 7 600
[ JL633 | 7 500
637 | 7 500
639 | 7 300
AR | _JL622 | 7 700
[ Jl624 | 7 300
[ JL626 | 7 300
L628 | 7 500
L 7 500
L 7 500
L 7 500
L 7 100
RR(CRE)=21 B CRE) % |_JLes7 | 7 .500
[ JL689 | 7 600
[ JLeoi | 7 500
[ JL693 | 7 600
[ JL695 | 7 500
697 | 7 500
=R | _JLess | 7 800
[ JL6%0 | 7 500
[ JL692 | 7 500
[ JL694 | 7 500
[ JL6% | 7 600
698 | 7 500
RRCAB)-ERS | RmCHE) R [ _JL6dl [7 000
L643 | 7 000
L645 | 7 000
L647 | 7 000
[ JLeag | 7 500
[ JLes1 | 7 500
[ JL653 | 7 700
L6565 | 7 700
ERSR L 7 100
L 7 000
L 7 500
L 7 500
L 7 100
7 100
7 000
7 500
B (R Es) = AL WL (37 T | & o 2 () 3 7 ,?gg

7 .
7 100
7 500
7 600
FLIR (BT %) 3 7 500
7 500
7 600
7 700
7 800

TSR BHIEER(BA21ABES)

JAL



EEBEAB 2017/09/02
FH
=40] Ea | BAH
BB
HRCRBR)=XR () | RRCAE) R
KB (P % | J ;
7
7
7
7
7
7
7
7
7
7
7
7
7
R CAE) ALB (BT &) R (RE) % |_JL ;
7
7
7
7
7
7
7
7
7
7
7
7
7
7
[#L1% (37 F %) _JL500 | 7
["Jts02 | 7
[ JL504 | 7
[ JL506 | 7
[_JLs08 | 7
L! 7
L! 7
L! 7
L! 7
| JL 7
| JL520 | 7
[ 522 | 7
[ JL524 | 7
[ JL526 | 7
[ 528 | 7
LS. 7
R (AE)-HE | RmCHE) 5 |_JL 7
L! 7
L! 7
IS L! 7
L! 7
L! 7
EEAC:E TN RERCRE) % L. 7
L57: 7
L57 7
L57! 7
ETR3 L570 | 7 000 |16,
L572 | 7 400 | 12,800
L57: 7 ,400
L576 | 7 200
RRCAE)=AS | W& (AME) 3 | _JL661 [ 7 500 | 12
| JL663 | 7 ,200 | 15,300
| JL665 | 7 800
| JL667 | 7 500
| JL669 | 7 ,800
671 7 ,800
Rn®E | _JL662 | 7 800
| JL664 | 7 800
| JL66s | 7 500
670 | 7 000
672 | 7 ,300
674 | 7 ,300
RRCHE)=R& FR (FH) % [ _JL605 [ 7 ,000
| JL607 |7 800
| JL609 | 7 ,300
611 7 ,300
613 | 7 ,300
615 | 7! ,300
&% | _JL606 | 7 300 | 14
| JL608 | 7 ,300
L 7 700
L 7 800
L 7 800
L 7 200
RRCHE)=fEA FR (PH) % [ _JL623 [ 7 200
| JL625 | 7 700
| JL627 | 7 800
[ JL629 | 7 ,800
631 7 ,800
| JL633 | 7 700
637 | 7 ,300
639 | 7 ,800
AR [Je22 [7 ,800
| JL624 | 7 ,300
| JL626 | 7 ,300
| JL628 | 7 ,300
Lf 7 ,300
Lf 7 ,300
Lf 7 ,300
Lf 7 ,700
RRCHE) =B85 RECRE) % |_JL687 |7 500
| JL689 | 7 600
| JL6ot | 7 700
| JL693 | 7 ,300
| JL695 | 7 ,800
697 | 7 ,800
=R | _JLess | 7 ,800
| JL690 | 7 ,800
| JL692 | 7 500
| JL694 | 7 500
| JL696 | 7 800
L698 | 7 ,800

TSR EER(BA23~24BEES)

JAL



EEEAR

2017/09/02

=40]

FH
BAH

3/23

UTIIT

ERE

R (PE)=ER

RECPE) R

.000

.000

.300

.500

.500

.500

.800

.800

.300

.400

.500

.500

.600

.000

.800

.800
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